242=4  Multiply 4 digits by 1digit =~ @~

Fluency Sheet 1

1) Calculate these multiplications mentally.

1,011 x 2= T‘I,110:3= ‘ ?1_11}1,‘4=

2) Circle the correct answer to this multiplication: 2,213 x 3

6,039 9,036 6,639 6,609

3) Complete these multiplications:

B mHTO B mHToO

1 0 2 3 2 1 &6 3
X 3 X 4

4) Complete the missing numbers in the following calculations:

ﬂ 2,111 x = 12,666 }
b) | x3=3,033 ‘

' 3,220 x = 12,880
&l \

5) Tick whether the calculations are true or false.

true  false true  false

B) 4256x2-8512 | Bl 6x4132-24792 | | |
L] 1.701x 4-6306 | £ 2415x5=12,074 | | |



